#& 7] Grooving Holder ==t

MGEHR/L

%fi
S TR EREH BATIR fit {4 Accessories I'F";&
Reference |Cutter bar shape Applicable conditions Applicable insert i
R B, T
Note Wide and deep grooving / /
(mm)
&I Model H=fh) | W I S T W2 4% Screw #F Wrench
MGEHR/L2020-6 20 20 125 20.6 23
MGEHR/L2020-6-T15 20 20 125 20.8 15
MGEHR/L2525-6 25 25 150 25.6 23 MGMN600-M
MGMNB00-[11-M
MGEHR/L2525-6-T15 25 25 150 25.6 15 MRMNB00-M
MGEHR/L3232-6 32 az 170 32,6 23
MGEHR/L3232-6-T15 32 32 170 32.6 15 @
MGEHR/L2525-8 25 25 150 26.1 28
MGEHR/L2525-8-T15 25 25 150 26.1 15
MGMN800-M
MGEHR/L3232-8 32 32 170 33.1 25
M6 x 25 L5.0
MGEHR/L3232-8-T15 32 32 170 33.1 16 @
MGEHR/L2525-6A 25 25 150 256 23
MGEHR/L2525-6A-T15| 25 25 150 25.6 15
MGMNB00-A
MGEHR/L3232-6A 32 32 170 326 23
MGEHR/L3232-6A-T15 32 32 170 32.6 15 ( @ (
MGEHR/L2525-8A 25 25 150 26.1 28
MGEHR/L2525-8A-T15| 25 25 150 26.1 16
MGMNB00-A
MGEHR/L3232-8A 32 32 170 33.1 28
MGEHR/L3232-8A-T15 32 32 170 33.1 15

¥& 7] Grooving Holder

=
weivRiL

$DMIMBNER
-tDmachmedmm‘.dlame!er ¢ d1(OIL-HOLE) bd
IR A
B e
|
\ r) ‘f“ >
- . —_—f T
Feed direction Right hand
illustration
5% TIFFEAR ERASH BEBRA '
Reference Cutter bar shape Applicable conditions Applicable insert Fic # Accessories
TR B, REmT
Note Wide and deep grooving , /
(mm)
EI S Model ¢D|¢éd| L | ¢ [Tux| H| S 1222 Screw #F Wrench
MGIVR/L2016-1.5 20 16 | 125 | 35 4 15 | 11.3 [ M5x 13 L2.5
MGIVR/L2520-1.5 25 | 20 | 150 | 45 4 18 | 134 MGMN150-G
M5x17 L4.0
MGIVR/L2925-1.5 29 25 | 200 | 45 4 23 | 16.2 |
MGIVR/L2016-2 20 16 | 125 | 35 5 15 | 124 L2.5
MGMN200-G
MGIVR/L2520-2 25 20 | 150 | 45 5 18 | 14.0 MGMN200-M M5x13 L2.5
MGIVR/L2925-2 29 25 | 200 | 45 5 23 | 17.2
MGIVR/L2016-2.5 20 16 | 125 | 35 6 15 | 1256 [ L4.0
MGMN250-G
MGIVR/L2520-2.5 25 20 | 150 | 45 6 18 | 1541 MGMN250-M M5x13 55
MGIVR/L2925-2.5 29 25 | 200 | 45 6 23 | 18.2 |




#& 7] Grooving Holder

MGIVR/L

mHAFFMAN

High Precision Tools

2% TR 8 F % EANK BL {4 Accessories
Reference|Cutter bar shape Applicable conditions Applicable insert
bt =4 =g, REmIT
Note Wide and deep grooving / /
(mm)
#E Model ¢D[dd| L | £ [Tus| H | S #2 4% Screw = Wrench
MGIVR/L2520-3 25 20 150 45 6 18 | 15.6
MGMN300-M
MGIVR/L3125-3 3 25 | 200 | 45 6 23 | 18.9 | MGMN300-[1[]-M
MRMN300-M
MGIVR/L3732-3 K ird 32 | 250 65 6 30 (215
MGIVR/L2520-4 35 20 | 150 | 45 6 18 | 126
MGMN400-M
MGIVR/L3125-4 3N 25 | 200 | 45 6 23 [ 18.9 | MGMN400-[1[1-M
MRMN400-M
MGIVR/L3732-4 37 | 32 | 250 | 65 | 6 | 30 |215
MGIVR/L3125-5 31 25 | 200 45 8 23 [ 194 MGMN500-M
MGMN500=[_]]=M
MGIVR/L3732-5 37 32 | 250 65 8 30 | 215 MRBMN500-M
M5x 17 L4.0
MGIVR/L3125-6 31 23 | 200 45 8 23 | 194 MGMNB00-M
MGMNB00-[1[1-M
MGIVR/L3732-6 a7 | 32 | 250 | 65 8 30 [21.5 MRMNB0O0O-M
MGIVR/L3732-8 av 32 | 260 | 65 10 30 | 234
MRMN800-M
MGIVR/L4540-8 45 40 | 300 | 70 10 37 | 27.2
MGIVR/L3732-6A 31 | 25 |200| 45 | 8 | 23 | 194
MRMNB0O0-A
MGIVR/L4540-6A 37 32 | 250 65 8 30 (215
MGIVR/L3732-8A 37 32 | 250 65 10 30 | 234
MRMNBOO-A
MGIVR/L4540-8A 45 40 | 300 70 10 37 | 27.2

¥& 7] Grooving Holder

LT

Feed direction

[_| HFET

Right hand
illustration

% AR B BT A Bt 4 Accessories
Reference|Cutter bar shape Applicable conditions Applicable insert
iR =g, ®REmMI
Note Wide and deep grooving =1k E#
mm - '\E_ﬁ Eﬁ R ﬁﬁ le.ljt%r ﬁ$
(mm) @_’T U Clamp |Clamping| Screw seat Wrench
|
S Model H=h)| w | L ¢ s s screw
DBH320R/L 20 20 150 40 22.3* | 22.8* DB300,*400** L3.0
DC3200.400 CGH5R1 MHB0410| LD34 L4.0
DBH325R/L 25 25 150 40 27.3 | 27.8 ' '
DBH520R/L 20 | 20 | 150 | 40 | 23.8 | 24.3
e CGHSR2 | M5x 17 |MHBO410| LDS6 | |50
DBH525R/L 25 25 150 40 28.8 | 29.3 %
DBH720R/L 20 20 150 40 25.8 | 26.6 L3.0
= L = 1 S S DB700,800 CGH5R3 MHB0410| LD78 s
DBH725R/L 25 25 150 40 30.8 | 31.3 .






